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CO2(g)
Carbon Dioxide is 0.03%
of the atmosphere
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Photosynthesis takes CO2 out of the air
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The deer eats the sugar
and makes CO2. = 
cellular respiration
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Carbonate in drinking water
or milk is used to make bones.
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fish do cellular respiration and make CO2
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CO2 dissolves into the water
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dead fish bones and seashells make
calcium carbonate powder on the sea floor
Dead body tissues remain in the hydrocarbon
form and turn into oil reserves.
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gravity compacts the calcium carbonate into 
limestone = CaCO3
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oil from a dead ancient forest and flesh of fish and dinosaurs
formed an oil reserve (hydrocarbons CnH2n+2)
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An oil well drills and pumps up
the oil into a refinery.
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Cars, planes, boat, factories
do combustion and make
carbon dioxide and water vapor
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1. cellular respiration, 2. combustion, 3. erosion of limestone.

GQRX7335C2_4
Text Box
1. combustion and 2. cellular respiration
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oxygen
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sugar and oxygen
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plants also do 
cellular respiration
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mass = 44
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CO2 turns into 
CO3-- (carbonate)




